1617-257 Mon Oct 24, Hour 18: Inverse Functions, 3

October 14, 2016 6:25 AM

Riddle Along: Can you pack 125 1x2x4 block in one 10x10x10 cube?

Read Along: Sec 8.
TT Discussion: Wednesday.
Agenda: The Inverse Function Theorem.

Thin (IFT) £ K7D (5 €' neer men, F0pl)”

=) F al)s Usa, Val=¢(<) 54 FEL) v =V,
Fecr —=> Al e ™. Wilot DF4)=d, A=zl=o.

TL F s Tfy-vigh ner a: Vero Jal) Jpda 54,

Vg6 T IFlg)FI—(3)) < e g

i v Oﬂéoaf/

Prrt T €15 =1 on Toy. [ IWI=Iw|S|U-VISEV] 3o (-8)]v]s]w])
Part TL Pij.l 1K oo 0.4 7, [La‘ Us 7., £ (o, k/Jo,) ¥ v=o \/31,]

Sl ne hi) pAt TS - ;D/ /j J'eﬂjv/z(j/a’.

Ao, prt I easi wh  (IVl=lalls Juevt s e =S U= (- €l
WA, IS c//'/,,\/é
Copl. g £/

Part T €71 IS Conl, =n /. /A;/)c: (Av\//(g!bd:é/\/-{—bt«\//\(é/l//+é/l/{-\//

(=é)|uv]|selv] so lU-v]s £ Iv])

bt IC P s bifEt)e AT o, Tere Tine
vt P 1s iFEuLl nter O
Vnrt 7L F' 5 "

1617-257-Analysisl| Page 1



